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1. f:singdx=(A) 1 ®)0 (©)1 (DR

2 [E _A) —lnm2) (B) -2 (C) — ) 2
2xlnx 2e e
Hint: Let u=Inx
3 E xsinxdx =(A) 1(B) = (C)2 (D)iz’- Hint: [udv =uv - [vdu
2 2 _ r r .5, 1-cos(28)
4. [2sin*(2x)dx=(A) 1(B) 2 ©2 ©7F  Hinusin®g=——r—

5. Let f(x)= sz sin’dr , then f'(x)=(A) sin®x* (B) 2xsin®x’
(C) 6sin’ x* (D) 6(sin’ x*)cosx

6. Let g(x)=K(J:sin6udu)dt,then g"(x)=(A) sin®x (B) 2xsin’x
(C) 6sin’x (D) 6(sin’ x)cosx

7. The curvature « of the curve y = x”at the origin (0,0) is (A)0 (B)1 (C)2

|m[

8. Let S be the solid ball x* +3* + 2% <1, then the triple integral
Jfe sy s Dada=a) Z ® 2 © 2 o F
N

Hint: (i) r(t) (1,1 )3v(t) (1,21), a(z) (0, 2) (1) k=

Hint: x = psingcosé ,y= psingsin@ ,z= pcosg,x’ +y’ +2° = p’,
dxdydz = p*sing d d¢ dp

9. Let Q bethedisc x*+y? <1, then the double integral [[(x*+ y*)dxdy=
Q

7 7 ps
(A) = (B) 7 © 3 (D) £}

Hint:x=rcosf ,y=rsing , x>+y* =r>, dxdy=rdrdd
-1

10. Let f(x)={e;?»x*eo,thenf’(O):(A)l (B) e' (C) 0 (D) In2
0,x=0

f (X) f ©)

Hint: (1) f'(0)= hm

(i) “—=ye” =5
X e’

1
(D) 5
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}}_{g(z T 2 ® O @ -
Hint: }3-1—33;12+n —lggizl(z 2)( ) hmZ(( )2 1)( ) -[x +1

[»o} is (A)—g— (B)% (C)% D) 2

The maximum in the set{

X
Jx—4)? 49

Hint: Let f(x) = andsolve f'(x)=0 = (x—4)* +9 = x(x—4)

X
J(x =4 +9
imQ/x° +2x* + x> —=x)=(A)0 (B) % © % (D) _i_

X-»0o

1

-1 -2 5 2\5
Hint: 3 x° +2x* + x° —x= x(51/1+ +—1——-1) (1+2x +x y-1_ (+2y+y)

Y
Let 7 :[0,1]— [1,3]be a one to one increasing function defined by f(x) = o +x+1 If

g :[1,3]1—1[0,1] istheinverse of f ie. (fog)y)=y, (gof)x)=x , thenf g(y)dy=

4 5 7 5
(A) 3 B) 3 © 5 (D) 3
Hint: Lety = f(x) = dy = f'(x)dx = (Zx +1)dx

Let Q be the region bounded by the four lines x+y=1,x+y=3,x-y=0,x-y=4,

then the double integral [[(x*-)*)dxdy =(A)6 (B)8 (O)12 (D) 16
Q

Hint: (i) u=x+y,v=x—y:7x=%(u+v),y=%(u—v)

o o)

(i) J(u,v)= g;f %j

ov ov

(iii) [~ y?)dsdy = [[ s, Yedud = [ s} o, Ybwedu =

-The End-



